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QUESTION 1

In a trusted context environment, if a switch request is made with an authorization ID that is not allowed on a trusted
connection, what state is the connection placed in? 

A. Locked 

B. Waiting 

C. Pending 

D. Unconnected 

Correct Answer: D 

 

QUESTION 2

Which operation normally does NOT require an exclusive lock? 

A. BIND 

B. DROP 

C. GRANT 

D. SELECT 

Correct Answer: D 

 

 

QUESTION 3

Which event will NOT cause a trigger to be fired? 

A. Execution of an INSERT statement. 

B. Execution of LOAD REPLACE operation. 

C. Execution of an INSERT operation of a MERGE statement. 

D. Execution of an UPDATE operation of a MERGE statement. 

Correct Answer: B 

 

 

QUESTION 4
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Which is NOT a valid reason for creating an index? 

A. To allow queries to run more efficiently. 

B. To enforce constraints such as uniqueness on index keys. 

C. To order the columns of a table in ascending or descending sequence according to values in a row. 

D. To order the rows of a table in ascending or descending sequence according to the values in a column. 

Correct Answer: C 

 

QUESTION 5

What are two valid objects that can be created in DB2? (Choose two.) 

A. Tree 

B. Node 

C. Trigger 

D. Contexts 

E. Sequence 

Correct Answer: CE 
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